M= QA Z
cde

e 2-5: Amn A Dedriche TOme |




| L&V&f‘?ﬁd s (Wr‘ﬂt’(ev) | —A-

Qege. Torsionsshab mit Syimnd. KoslewaoRC
S= bonst. | |
a.= AcOmm i
Mp= Aoco

1?\4 = 20 My
;'.CSSurng;

We  2AmS$

2unochsi  Enduucf mik Ag =0

e Me _ /oco WA Wl
2 Jt -Aa. 2-20pn - 400 |
/Vacf,wccbmu.mg it Am
AW\*—?'(@-S).2= 97.5% mm
~ Mt _ Aooo 40>
A= 2.Ams - 2.@ys22s T|RrT




22 .0S.2042
?%vgskv\
21 4oL 2020
M4 M+
’-T_+ — W—_ — Ee R
- 2Am. S

A = @U‘S)Z-
M4
WS PR
M4
2(a-~$ ‘)Z-S =
( Te
2_(0.—5‘)2-8 _ AOCZJZOOO
2

2(a.-8 )-8 = So 000
3
@-s )-s =2s o000

(a*-2as+8) S = 25 ooo

b at S-2a874s> = 25 ow



65- Zo,sz'+ 0rSs-25000 =0
2, pA
$7 - 2008 +400008 - 25000 =O

\333 = 82,6 mm

Hown te30el Schenmo

A = O A0 oo 25 00
8,6 8L 6 —2BHNY 25000
B, 0 A — A+ 202,16 O

SF- MAINS +3218 =0

52/1 = S8% TE;HS“GSQ -30216
524 =591 Sboo

S2 > MY, 36 vy

Sp = 4,6% vam




HinleGS Oul Tovsion hidstloeis form, Queachnitie

. Oy deén E‘Cke"\ T&S{(}h_}f.i{k)hhuhg g (N\A\\)

"NICAL P in et \'?P:')hmuweb“ktv-kieumq
—

| B
b
A — | A
Y
2 B-5
A-A
& ore W woo Tobelle
SO = | .
—
X
—
/- n :-Ciaz'b
,,:_ b Wt CQ
2 B { Towelle AA3R
o

>

\



29.05.20/42

13. 0s. 1oAS
/T_ 3 M+ N&hemu:pu&‘&c
YyvOX = =
b
b 5, o
INE i 'C /
A =
= A AO0X=D
7 /‘O 0‘35 3102) '_.-
3D
2 1%
Q8% _ 3S2-2
(Y 28 352 =
2 ATh

- « )
\otgen Cur dechnes |



Torsion Schwoler Rechieckgueatniti e

. N .
B My
l % ok = g
/

| o We= &4 2 - T=Cro™b
l | 9.
| ‘-‘:—'”t ' ""‘t €2 = Cz e
l | \ ’]*W\O)K'—‘ C4.a1'b - a . ai"-é
ol - , |
| . g | Ander Mt
| kinwox"“ a‘z_‘g"‘l Cler Congen
| . - | Seilen
i
| h‘= Q—. Q C/‘ “‘C"“Cf
| >M0 do3 A

eOEE. T e B ARE

o 8 325 ®3%

V.‘li)’-\h‘(} R

C4=0 6 33t M3

Cy=A
| C Y% 3s2 A%

g O |
K@
. OO0 3 3mM Bk
’ r qb' |
| = AA° 2' L‘(OS 35 ?O‘
l \\\ 0

| 1 438 533%



TR
- .y 3
PO 40> ___
) -
| q -

1




—
Q. QA= S0 vam i
o = 30 mm s
fh 2SO mm \FO
£ = 300 mm
F =A2xwv
Losung
T O W
. P>
W{. r C—: az’b
nrg,%si?o:% a‘bzwmm
A b=h=S0Omm
h-"—- A;b@
C/(e i A= 03630 0,05
Jeohr b
Ca=Q20%




ke 0,209
0 8% 80" 50

W
Olé(,hﬂ
W 40@3(0 5 M

—_—

3

-‘I-\-= . 10> 2.0 5
‘0

4036,5
' = AA2
S N
= —
520 TS
G-I+ &
= CA-V\-Q.H

gP
- A2.
‘3 %flo 2-50-3 s
AO - - : e
2381 =27 i
- 36,8
8 mmt

£
ggl > =
il W
[m



21.05. 04 ik
 Hbocler A.5Q%F uﬁ:: ETWATR J

I
A

E
h(: go AIM
Q ec% " A(‘DW\
L
~B A=50 mMnn,
Ga, = 26 §PaR %Sk,
Qcs.
hA" gy
LO".S\A"\?,Z \PAC
hA"hC + hB =0Q
‘Ca-3 = O
\@C - fc_g =0
HA - Cac (Ne-ta) e | oy
G Lt o

Ha. CAC. = e eBC -4 Qe

4,8

- ® | —




-

HB = r\C“’\A
M = Qo-4% = 32 Nm
mlgmg

¢8. (o7, 2,4.400c0 .A4Q0°

Chs =
. SOt ‘26.40° - TC

Cac - 012°




